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A

CTIONA1 , PSY(Cy 10LOGY

“1 know the chemienl formula of

water in H, 0" is example of

which type of memory?

(A) Semantic memory

(B) Episodiec memory

(C) Procedural memory

(D) Working memory.

ots

9 According to V
is uSEd by C

AC) Language

(D) Society.

3. Gestalt means :

(A) Illusion

(B) Perception

P



R

Which of the following
philosophor

.

) fyg T TEbEs 3 ool 4.

1

A STINTH . HIT STIHA & [T $11Sr:

bc!ieved th
at

learning and experience -

(A) Plato

~(B) Aristotle

(C) Archimedes
hIR el (D) Noneof't

Sl e 1 A =eR] o] 3 w,m'm A ept of Intelligenc,

tient or IQ was developed by

. '@ alton

e ot
1 % ;;—_. . it
(A) e &he

B) fa

Herbert ::“'""J!.'E)
.vi-”' slm . Wi :'i"s
Y 110E110 YY UIUL
Telford

Harlock




s The dévciopmunt of mental ability

is know as :

(A) Psychological development .

(B) Physical development
(C) Cognitive development

(D) Motive development.

€

8. At what age does the child @ n

develop and attain@ all

size?
‘a

(A) up to 15 ye

(B) u@eﬂrs i
“ @) kp to 9 years
)

up to 8 years.

According to Psychological Freud 1d
is based on :

-‘-.

LRIERIREIEIRESS
SR e A
(A) Fear
(A) ¥q =l

(B) Pleasure
(C) Disappointment
(D) Imagination

P.TO.
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|

T

12,

sy v W w0

i ® e 2

(A) ufirfeh

(B) stan{wd

(©) e ()
(D) wiErsT

1. frem o viEw #:
(A) wfoza
(B) fre=r
©) ol
(D) 3rqvi|

28

ST 82

(A) =afgam

(B) ®Hgte+

(D)

.N-231 I'Sel'ies.B

fa=m

12.

(6)

10.

31,

el nnd ured person Ili!‘.;.

Qelf center
vesse eI

nll.llﬂ Y

(A) Extrovert
Si1)) Introvert

(¢ Ambivert

(D} End unm'phiC. d\

Development 15 H P!’OQBB .
1\ ¢
(A) Split

&

. 45)! Conti nuous

_ (€)"Whole

" (D) Broken.
What to do you _ﬁndcrstand by
Psychophysical differences?
(A) Peraonn!ity
(B) Adjustment
(©) Individua]

(D) Anxiety.



: § fHal 9&vs '
T wfd ® | 13. For how many  seconds
fern gL, © FFd 2?2 short term memory holds

informations?
(A) 30 §FTS ° FA
‘&) 30 Seconds or less

(B) 50 ¥FTS
(B) 50 Scconds

(£} 50 WAS SRS AN (C) More than 50 seconds

(D) ﬁﬂ ’a aﬁ'é il (D) Non HLL“"‘LLJ O

According to Erikson's, theory,

4. m%m*mm 14.
, ootgesatthe

stversus Mistrt
age of ¢
(A) 4to Gye
"’t

(C) 2 to 3 years

3) O'to 1 years

(D) 8to 12 years.

Revival of Past experiences 15 ©

(A) Retention

(B) i,e'aming
(C) Recognition

ﬂ{) Recall.

_PTO.

"""""""""""
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B

(C)

(D)

D)

ST

ey e B A G T [”'{

_:IR k&:; -1"' :‘33’ "' “';

g
SATCHIETG

T &l

SR

Hdle.

HAI4hal

Eghdl
1 SAELdhl

rgvgamall

hlieh * ';EI("[v

,—

In the Maslow’s theory of

otivation which needs comeg last

16.

M
in the Hie: archy ?

(A) .h\; !l__,” Cﬂ’ Needs

Esteem Needs

"\t

II \-L:J‘ir

I (D S.lfct Needs ‘
Who made “Sixtecn Personality

Factor questionnaire™

Binet
(C) Watson

Cattell

Who compare the Human mind
with floating Iceberg? '

(A) Sigmund Freuc
(B) James
(C) Cattell

(D) Allport:




T
haok “p
ok “f l'lm:lplp ol p

qyth“l" 48
is Writtey, by : Y

(A) Charleg Darwiy,

(B) Sigmund Freud

(C) William

James -

Which of the follow; \gis contro
by Thyroid gland? '

(A) Glu

(B

etabolism
' @ (D) None of these.

21. Who started scientific study of

creativity?
(A) Mednock
(B) G ilford

(C) Galton

(D) Torrence.



22.

Wwﬁaﬁﬁwaﬂﬁi? 22.

(C) &«

(D) faer|

Rl-YE qaem T o % gu. | 24.

N-2311-Series-B

(10)

23.

Who s the Father of Experin

Psychology?

(A) Wilhelm wundt

(B) Jung

(C) Sigmund Freud

(D) None of these. _

Opecrant condi’ftiofiing

assoqia;ted with :

A Thorndike

‘ (B) .'Skinner

(C) Hull

(D) Miller.

Inkblot test given by :

(A) Galton
(B) Freud'..
(C) Rorschach

(D) Allport.



The Psychological method of

% i %: to
W faf | individug) study of a Child jg .

(A) Rating scale

(B) Questionnaire
(C) Case study
(D) Experimental method,

~ Association between stimulugand
cifg &1 77T Feam 2 response is known as M.

{

(A) Learnifig

- (B) ing
) htent:ion

. (D) Motivation.

27. “Learning Design®is emphasizes

in:
(A) Construction
(B) Behaviourism :

(C) Gestaltism -

- (D) Hormic view.

P.RO,



. urm & wiepfaw aw Aa-ufaw | 28, Who gave the theory of Culturg)

frwa W fagia e fan? and Bio-socio development?
(A) T (A) Watson :

(B) s

(C) agTiIEER!

(D) W

29,  wfa @t fe sraed 22
(A)

(B) T

(C) w

(D) | RI

30. vEAE FE &

30. Pavlov belongs to which country?

Q\
P i

(A) <t (A) Germany

(B). &9 ‘ ' 1{B) Russia

(C) s (C) England
(D) srifei " (D) America. |

N-2311-Series-B (12)



wwection Q. Nos. 31 to 33 . Chooga
pire _

sorrect from of Passiye Voice .
e s

th

Who did this ?

(A) By whom was thig done?
. .(B) By whom was that done.

IC) By whom was this do,

D) By whom was that do,

My watch was lost :

(A) Watch was lost by me.

B) 1Ilose my watch.

)) Watch had lost by me.

llost my watch.

linine tastes bitter :

Juinineis bitter

uinine was bitter when

iaste 1s quinine

ENGLIgy

Yection 0. N
. 's.

24 ¢
the COrree " 0

87 . Chogge

Ynon
Hiven . yms fop th

“APIT],

¢ wf)l"llg
I‘?ttcrﬂ .

M. CONFIRy

(A) R(!V(:ngc

- (B) Rntify

(C) Rcvolutionary .
(D) Recover. C)

35. AB ¢

Q-
*\-6) Discharge

(C) Eliminate

(D) Abdicate.

LR
(A) Outspoken
(B) Intelligent

(C) Skillful

(D) Diligent.

PTG

(13)




37. PERIL
(A) Danger
(B) Calamity
(C) Abolish
(D) Disdain.

Direction Q.Nos. 38 to41 : Identify
the appropriate alternative from

the given option for filling in the

blanks:

38. To save my life, I ran faét, and

reach safely.

(A) Would
(‘B)vﬁas able to
{C) Could

/ :
(D) Can., ; il

© 39, 1 was afraid that if I asked him

. again he ......,.... refuse.

' (A) Might -

N-2311-Series-B

T

(B) Can .

(C) May =

ol

AD) Would.
i

40. He.... s have taken pityon t}

Bagger.

(A) Must
(B) Ought t.b
(C) ﬁ:ave:'to'

\ ._(D)‘ None of these.

) DR . S R— help laughing when

I had a sneeze.

(A) Would not
- (B) Can not
~(C) Could not

4

(D) May not.

/ f
o



4

gt 48 tordl s Chiooss

ﬁ.;hf'" . 1o from the given
Di ect article 110
th¢
oF‘ioﬂ: "
v world 18 seesemmmemrresees happy | 45,
4

place

i) The

0) An

. None of these.

5)

beauty is short lived.

S TOAY

1 at mv o1ce.

Dn‘ectmn @ 46 to 48 Choose
o ri " -‘l' posltlﬂﬂ

46.

(C) The

(D) No article,

Get ............. pound of sugar from

.. nearest grocer.,
(A) The, A

(B) An, The

(C) A, The

'l

(D) The, An.

x.«l}I:J_P

He is TIIESS

(A) of

(B) from
(C) In

(D) with.

P.T.0.



47.  The Auditorisentitled ............. his

remunceration,
XA) for
(B) of
(C) to
(D) by,

48. We should all aim

excellence.

nnnnnnnnnnnnnn

/.(A) on
(B) at
(C) of
(D) for. -

Direction Q. Nos. 49 to 51 :€hoose
the World is opposite in meaning to

the words printed in Gg'pftal.
49. EXPEL

(A) Transform

(B) Promise

‘C() Absorb

(D) Reject.’

N-2311-Series-B (16)

50. L:I.NEATH
(A) Shape
/(B/) Aloft
(C) Below
(D) Resemblance.
61. ELICIT
(A) /&ppla.ud
(B) Inw:lve_

' (D)I' Languid.

A "_Direction Q. Nos. 52 to 54 : Fill in the

blanks with appropriate conjunction

for the given sentences:

B2 e he ran very fast, he

missed the bus.
Ay As

(B) When

(C) Though

(D) Unless.




pnee
........
.
'
"

> the train left.
A &
(A Though Yet
(B S0 = that
than

(C) No sooner -

- (D) Either — or

............... 1 should

he

ion

he
TeCctly 1'.12! WO

Superfluous.
Super flous
Superflus

)! None of these.

56,

(A) Homogeneys

LlB]/H'3"“0@.(3nm:-u,;,

(C) Homogenous

(D) Homogenerous.

57. (A) Circumfernce

(B) Circumfefice

UCy

(b. ne of these:

ection Q. No. 58 t 60 : Choose

the correct from of Indirect speech.

58 ‘J— () "+_ 13 e said to her.

was told welcome.

She W

(B) She velcomed him.

-'{c'fl)’ She was welcomed by hir

(D) None of these.




Amar said to Rowstii, “Tash

59.  He said to his son, “Don’t behave | -
like a fool”, these sums”.
AA) He advised his son to behave © (AL&fnar told Reet: .
like a fool. . sums.
\('Bm- advised his son not to \_(tB) Amar proposed to Reet: 11
behave like a fool. they should solve
- (C) He suggested his son to be a |
fool but not te behave like"a I.%C) Amarsugg-c-)Qx to sy
fool. sums jointl
' %
(D) He did not advise his son to (D) None'of these.

behave like a fool.

O
v
N

N-2311-Series-B (18)
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) af T
' &

S| qehld DIl I<

qY B

% hH o

e g Ml B
S ol [ e

HIGERl Bl

SECTION-1I1 ; HIND]

04,

"MW @ sz e A W
- Bz on il

(A) 3um
(B) =y
(C) Zmen

(D) wreTFT)

66.

AHT i]a e S &
) 3
(B) 4
© 3’

(D) 16

PR

(19)



f 67.

= 2
! (A) Tm

(B) Ry

(C) fazit

(D) TvE|

68 'qu’ @ wianE #)

(A) T
(B) T3
(C) &R
(D) Iudam =@l
‘Tt =
(A) 7T |
(B) e

(C) |

(D) a1

N-2311-Series-B
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AN

(20)



6. ' wem w3
AT P
(B) forsmrrs
R —
(D) weTaT=E|

7. e ® e #

o ()O

(B) 2 2

| 2 (b 4

|
|

v = fow o w

7 &= B2
|

3-"\'; :'[-ét: 1
(B) fagr=

() faug

(D) fe=mEonl



79, ‘Wi WEH LR ¢

§0.
Q' .red wR-W wEaE

(A) T TRaY
(B) faviuu ggay

(C) f‘am ZaY

(D) firm foviow we@wr

N-2311-Series-B

aydem @ TN T & IR

B = e - -

t:

(22)

82.

83.

84.

(A) 9

(B) w1/

() I

fog gdam &1 w4 fed safa 2
T F WY WM & fau

(A) TFaaTE
(B) frvage=s
(C) framr==

(D) T==Er= |



@ e 0 Qs el
B o g S TR T T E=
A e

) T 1 (A) 3?“ (B)

P10,



SECTION-IV : MA'I'HEI\I.-\TICS

gt
4

92. UF {AYSYS & 9™ 100 A

A

(A) 10 em

\LB(‘20_¢m'

(C) 30 em pe

\\

93.

N-2311-Series-B

$d x w1 oA | 9L

(24)

"1 2,
If 3573

(C) 6

D) ==

(A) 10cm
(B) 20 cm
(C) 30 cm

(D) 40 em.

4

then .




TF 25 fre o
o SaaL G dIs =T G FA R A | B 14
j g fahadl w T w?

4 o4l -

(5 Kms

AT
ol 3
RV 1008 LITAS
"y F

]

10 km ¥ UG

T TEIE o Y W

R clged g <hi Hidl

Hl B b 10 cm &L & SHsl .

S
s 220 cm '.;1:5_1! -;_;_!Er !'l__:__{‘l’,l' cm dis| [

95. The ratio between 5 : @w

" d ;‘_,‘._ i

94. A loaded truck travels 14 km in

25 minutes, if speed remain same.

How for can it travel in 5 hours ?

(A) 108 kms
(B) 168 kms

(C) 188 kms.

(D) 148 kms.

(A) 1:20 “

40
1 0
@) None of these.

06. Anil plan to tile his kipc en floor
with white squaretiles eachside
of the tile is 10 cm. His Kitchen
is 290 em in length _='§,e,!_;_i_! 180 cm

wide. How many tiles will need ?
(A) 496
(B) 456

(C) 396

(D) 110.

P.T.0.



N-2311-Series-B

97. = 2,34 wi enqem w=y W fafaw

3
o
(A) 3

4
92
(B) 3

v 17

[ fid
(C) 50

(D) ¥ | F13 T

98. 72 foamai &1 W 9 kg € @ 40

frmal =1 wr fFan B
(A) 18 kg. o
(B) 8kg.

\JEKS kg.

(D) 15 kg.

i (280

By e \

(B) -2

4
15
o i

20
(D) i

(26)

97.

98.

89,

Write the fraction 2.34 in

form:

3
(A) 2;.

4
(B) 2-3'

17

2__

© 5o
(D) None of these.

The weight of 72 books kg what

is the weight of 40iguel: ks :

(A) 18kg.,
(BY Bk
(C) kg,

(D) 15 kg.

Find the value of [3] 4 (-'_4] :
"\13) "G5

5

(A) 2

10

(B) 2

15

(C) 2

20

(D) T



(D) 098.8 em* (A

s w1 (AT s
Y| <l SAIHA1 K

100. A hemispherical bowl has a radius

of 3.6 cm..Whnt would be volume
of water it would contain ?

(A) 890.8 em? (Aprox)
(B) 089.8 em? (Aprox)
(C) 980.8 em?® (Aprox)

(D) 098.8 cm® (Aprox).

101. Volume of Cone is;
5 0
(A) 3nr Q pe

(B)

which of the following identities
does not hold ?

(A) Jab=+a-Jb




15

103. Simplify il =

D)

H1 TUIHS WIASH 8 ) Multiplic:itive inverseof -1 f -

e T A

<

N-2311-Series-b




L A 'gﬁnaﬁ H A 106. How many g
o an el 3 M Y sides does a Regular
|03 » ,ﬁfs{ﬁ_ arm 43 ' polygon h"v“-ifi!ﬂch titnintarice
" angle is 165 7 .
g T
l-’“ 24 (A) 24
106. A ‘ﬂﬂ‘i@l T I X, 106. Find the valuc OfAIETORT v, 7
-ﬂm aﬁhq: . in thiS Para ‘ '—”,!};{'r._uu._
DT N
50°
A A >
X y zZ

(A) 40°  40° 40° 40°  40°  40°

(B) 130° 130° 130° (B) 130° 130° 130°

(C) 120° 120° (©) 120° 120° 120°

D) 110° 50° (D) 110° 50° 120°.

P



(0t undeive fr A frrw s wee | 107, The required 1oplet
3 —— Pythagorean Triplet why,,
h 3“‘.‘?““-! "WE R s

member is G are :

(A) 6,12, 18 A) 6,12, 18

(B) 6,9,12

B) 6,9, 12
(©) 6,12, 24 () 6,12, 24
(D) 6, 8. 10. (D) 6,8, 10.

108. 25 faenfirad of R 724 faemdt fasmm | 108, 72% of 25 students‘are go,

q 5 ¢ et farenddl fam o o Science, How miny are not ;.
e &7 in Science ? )

wrfe (s

(B) 20 @ 20

(©) 07 | { ) © o

(D) 16. (D) 16.

109.  12x*-7x+1 § sfravs & 109. Factorise 12x%-7x+1 :

(A) (2x-6) (6x—1) (A) (2x —6) (6x - 1)

M—I)(‘!x—l) | (B) (3x—1) (4x 1)

(C) (4x+1D(3x+1) (C) Ux+1)(3x+1)

(D) (6x+ 1)(2x +1).

(D) (6x+1)(2x + 1).

N-2311-Series-B (30)



(C) 150.cm*®

D) 'Jlrulu'

!
THell MRl dTed - {5hei-

P e

110.

- 111. Curved surface ar

Ina cricket mateh a batg women
hits o bounda

6 ti
balle ry 6 times out of 30

plays.  Find  the
probability that she did not hit a
boundnry:
30

24

24

30

2
30

she

(A)
(B)
(C)

() ==

right

circular cone whose s\ eight is
10 cm and us is 7 em.
(A) %{ 5
-Hﬁ B
Ty

0 e
0 cm?

20 cm?.

A Vessel has 4 litres and 500 ml of
curd. In how many glasses each of

25 ml capacity can it be filled ?
(A) 170
(B) 180
C) 190

1)) : 00. .




TR CER LR D IR 113.  Which statement is true 7

(A) WA fam el wmoam wm (A) Thesumofthreecoddny,

AT f 18 even
Qp/":'ff?m Tl ol um T wen (B) The sum of two odd ny,, '
WA W wum and one even num -
(C) afz falt 7m ween w2 A M (C)Il'anovenm‘
fon s, @ wrrea T faum by 2 “QJ) is alwg,
v odd -
. *®
(D) Wit 3 weand fam 21 v A rime number are ad
4. 2 | 12 7% 91 Wpd Heyd fafag +:rite the Natural numbers fron,

W ] R W e sy 2 to 12. What fraction of them are

wzfim Fai? prime numbers ?

@) T3 Q\ A 3 .




]
@ wR 237

(D) 3

— 116, PQR is a triangle right angled at
PifPQ=1 and PR = 24 ¢m

),
g,

cm

116. PQRTE fITd 4
fz PQ =10 cm @ PR =24 cmdd

QR TM:
Q

P 24 cm R

(A) 56 cm
(B) 26 cm
(C) 46 cm

(D) 36 cm.

P.T.O. ‘



117, =med 0.65 fw= @ ¥ ]

118.

T

(A) 605%

(B) 660%

Yy 65%
(D) 7 ¥ w1 T
@ 3 9wy afte =X A 1. a9

AR 345 WU =W 3 w9 F &Y
=@ fean mwt‘aﬁ a1?

(A) X200
(B) 3300

(C) Y400

‘msoo.

119, w4 fawa & W l’fﬁﬁi’ﬁ'lﬁﬂ Ll

aft & Tase @, e 3250 H
@i FT T150 § AT TH:

(A) 50% w7

(B) 50% <™ .

(C) 40% @y

(B7 40% =13,

N-2311-Series-B

(34)

118.

119.

Convert Decimal 0.65 fracy,

{0 pcrcents :

\) 605%
| |
650% ‘
v (L 65%
(D) None of these.
Me. . gives an simple interest of A
45 o one year at 9% rate P3
What g t};e sum she hg;
7, 7200 |
(B) ¥300
(C) 400
(D) 500.
Tell what is the profit or loss in

the transaction. A skirt bought for
%250 and Sold for ¥150

(A) 50% Loss
(B) 50% Profit

(C) 40% Profit

(D) 40% Loss.



A3 & ST =T *h 1Y T STHEy

0 ['i'),_;_:jh:;i_gj ol mljninina ﬁmlro

: K .'"\‘ by .Il U b=y v " . -
=qeh| ILHIM AH1LE ‘-aJ!.‘.I:._'.‘ '..r.)',l-;,' wircle mcludmg s

10 em=—>

(A) £35.4 em

(B) 25.7 cm

(C) 18.3 cm

(D), 33.6.cm.




sECTION-V :

122. maﬂ-«zﬁumqﬂmm

S 9

(a) Tm TR
(B) TN TR
(©) TR T

(D) SEat &

123. mwﬁwﬁ.ﬁmi.

= e g
(A) 1977 %
(B) 1971 3.

(C) 1989 3.

(D) 2004 3.

N-2811-Series-B

. EVS (Sei.): GK at

L EVS (SST)

l"'i \-\'|1|'|I did t.he Chipko Movement

st 7

(A) [n 1973 A.D.

(B): In 1972 A.D.

(C) In 1975 A.D.

(.D) n 1977 AD.

192. On which River was thewSardar

imexam.com
Sarovar (lim Qe vuae on?

(A) Gg_ngn hiven
» (B) Yaruna river
() Narmada river -

(D) Saraswati river.

123. In which elections did the

Congress Party give the Slogan of
- “Garibi Hatao’ (Remove poverty)in
India?

(A) 1977 AD.
(B)' 1971 A.D.
(C) 1989 A.D.

(D) 2004 AD.

(36)




A WU ERE

- dt -
AL I

-

) s r:[,

e A g 1 A

HETH! T
die] TMHL Tqeieh |

1D

N=2oll-Series-B

|
|

After Independenee when were i,
] ©

first Lok Sabha elections held in

Indin?
(A) October 1948 A D,

(B) October 1951 to February
1952 A.D.

(C) August 1953 A.D.

(D) October 1950 AD.

When was the Electi
formed in India
(A) Febrary 1951 A.D-

(B)WJanuary 1950 ‘AD.

() "January 1953 A.D.
(D) Februar, ,1949 A.D.
!
rth right anc

126. “Fre ~dom is MY 1
1 T . . ?
shall haye it who said this’

- o

r he
C .
- -y L




~—

127. @ vl wfaum T 3w A
v R W fay amg wm
w?

(A) 19 =d
(B) 21 =4
(C) 18 a4

(D) 17 =¥

128. g3l 9 ufads gest wt farg wifa
® HRO B R?

@
(B) yfmam
fCJ TEAREY T
(D) ¥ | aﬁi’!ﬁl
129. TFE w22
(A) gt

(B) uy
(C) g=sit .

(D) ®el

N-2311-Series-B (38)

128.

-129.

What was the mi“imu,,
| :‘?‘L
_— .
| »dian constitution wag fie
'_'fi"

(A0 19 years
(B) 21 years

(C) 18 years

1 |7 years,
Wi _anovement of the Eary,
cat -+ hereasons to change?
AAWR. 1tion

(B) Revolution

(C) Gravitational force

(D) None of these.

"What is a 'I"oucan?

(A) Bird
(B) Animal
(C) Vegetable

(D) Fruit,.




St gy f
17
g fafew IMET & AR

m Al

A

H T Thi SIH =TI
fifa w1 &Y W0
FT3 h INEd <l

w9 =il

o @i 9 HEAE

1

ti‘\ Abot
) Aboy “rpansion of British

Empire in India.
(B) The Kind of Education poj;
that will be adopted igfndi

(C) About implemel' rule

of law in India.

Which state of India does the

Tropic of cancer not pass

(A) Uttar Pradesh

(B) Madk
(0) Gujarat

(D) J




132, P 0 A wla-w R ]
W wfmns el ol T

t?

(A) Tl Eralaans
(B) ngiem

(C) 3R

(D) ®iferam

N TR SUECS i

Himexam.com

(D) m'.ﬂ EOH =rs°r‘|

134. fava & gad T
2?2

(A) wem ifrem
(B) T4t irem
(C) w s
(D) ¥R iﬁmm_

N-2311-Series-B
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132. Which of the ﬁ:llnwing

133.

Ko

By,

protOCf- us from the ['”lr:,‘,. Y
]'JII.,'

rays of the sun?

.!(A) Carbon d!xid(,

(B) Nitrogen
TR

T i I J‘ 3

“.' O _‘e"‘ A,
Il*gv_'."'-

(C) Mantle
iy
(D) None of these.

134. Which is the largest desert in the

World?

(,A‘)/ Sahara desert
(B) Gobi desert

(C) Kalahari desert

(D) That desert.




135, G UER W OER m o g g
waifus sz 22

(A) Feeafa
(B) geal
LC) Y

(D) wif31

136.

T G W T 2

(A)e ITT=T 18
(B) &R 17

135,

136.

Which planet i5 the closest 1o 48
Sun?

(A) Jl.l[)‘ltel’

(B) Earth

(C) Mercury

(D) Saturn.

Which article of our'cons

Y0



|
2
')

s, s om owmbie oy ooom #7
(A) Fey O,
(B) Fe 0,
(C) FeD

M ™ § 3 =

139. wra WR ¥ ¥9d 9§} 1y @
@ R

(A) TF4
(B) ®oRTa

~

(C) w3y

(D) ufaan

140, SWR T wiE FETEE A
TR @ faes o T T W

fear @ wwem o .
(A) B HizeEA
(B Yee wewm
(C) W%l 3=

(maﬁn q2rE ol

N-2311-Series-B

138.

139.

(42)

140.

‘

What is the Chemical formy, ”

rust?

(A) Fe,O,
(B) Fe,0,
(C) FeO

(D) None of these.

Which is the largest.gland in
Human body?

(A) Li#ef LS

(B) Excretory organ

(C) Intestine

(D) Food pipe.

The only successful African

National congress leader

who struggled/brought against

discrimination on the basis of race
and colour :

(A) Hector Peterson

(B) Nelson Mandela
(C) Kofi Annan

(D) Boutros Boutros Ghali. ,



i

®2 ® TEE w0
1 T 141. 'ﬂml'lnnt!hn!rnmurmmwufur

141.
T a9 = T 2.
it prrey Is called
(A) TR (A) Dodders / Amnrbel
(B) Tsvd Y (B) Gudhal/ Hibiscun
(C) w5l “«C) Pitcher plant
1RGIEL (D) Rose.
122, fava =1 F§a8 oI TEETY FH-T 142. Which is the smallc—st@n n
27 the World? < ’
(A) Tiera Hemid (A) Asia n
_(B) &I TEEY (B)(b ntinent
-
*&mlm continent
) South America continent.

143. Which country does the Yangtze

143.
River flows through?
(A) India
(B) Pakistan:
(6} = | (C) Tibet
(D) <1 (D) China.

N-2311-Series-B (43) PTO



144,

145.

b 4

146.

N-23811-Series-B

v o wie fem A wfeenal w
e aifuftan &9 @ g7

(A) 2003 A
(B) 2005 o
(C) 2006 ®

(D) 2007 ®

P fag W & fem wm ¥ fen
2?2

(A) 30 9 |
(B) s s o
- (C) df¥=m wm q
(D) @& wm ¥
fem v A o
fem 22 |
(A) demr
(®) s W
(C) 3T
(D) dfqarg!

144.

145.

146.

(44)

1

When did the Protection of Wop,
“n
from Domestic Violence Act ¢,
am
into force in India?

. Himexam.com

PR LR b

(B) In 2005
(C) In 2006

(D) In 2007.

Which part of”India.- 18 the Indir

Point located in'?”

| ._(A'"}: -_Ndi‘thefn part.

(B) Southern ‘part.

(C) Western part.

(D) Eastern part.

Which state is Chilika lake located

in India?

(A) Telangana

AB) Andhra Pradesh
(C) Odisha -

(D) Tamil Nadu.




117.

148 ‘-‘{ﬁﬂ‘-{ﬁ%a‘(ﬂﬂﬁ

149, “WIEH i fea” fEad & _aas 149.

N-2311-Series-B

(45)

141 wlli‘nl n the onl
LA} "'

148.

loented vn 1ndin?
(A) On it inlnne
(B) On Kavaratti

‘C) On lJ“kﬂhﬂdWl&(-;

(D) On Barren island

What was the name of '

(A) Namami, Gange
(B) Tap Jal Sanrakshan Yojana

(C) Nadi Jal sanrakshan Yojana

(D) Namami Devi Narmade.

Who is the author of the book

«Freedom From Fear™

(A) Nelson Mandela
(B) Aung San Suu Kyi
(C) Bipin Chandra Pal

@7 Bal Gangadhar Tilak.

PO,



150

wra sl w) aebifie aieon &)
EreaRusi i R e R I e Rl i
sl wifm favn?

(A) 1 Feawt 1946
(B) 11 frg=t 1945
(C) | Sl 1947
(D) 10 fegmm 1948,

N

160, When did the Genery) A
United Nationg .

protection lthmvem"d " A,
of Human r;ghm')

(A) 1st December1946
(B) 11th December 5

(C) 1st January 1947

(D) 10th Dec@ 148,
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